
Answer any four questions from 1 to 5 each carries
one mark

1. Paretnership is the result of an agreement what
kind of agreement is this?
(a) Oral (b) Written
(b) Oral or written   (d) Oral and Written

2. X and Y are partners sharing profit and losses in
the ratio 3:2.  They admit ‘Z’ for 1/6 th share in
future profits.  What will be the sacrificing ratio
(a) 3:2      (b)   2:1    (c)  1:1     (d) 3:1

3. New Ratio – old Ratio =  ______
(a) Sacrifising Ratio (b) Current Ratio
(c) Gaining Ratio     (d) None of these

4. On the Dissolution of a firm which of the
following liability shall be paid first
(a) Partner’s loan  (b) Partners’ Capital
(c)  Creditors   (d) None of these

 5. Death of a partner leads to the ……………
partnership firm.
(a) Dissolution       (b)  Amalgamation
(c) Reconstitution    (d)  Reconstruction

Answer all questions 6 to 7. Each carries 2 marks

6. Mohan, a partner in affirm, withdrew 5000 per
month during in the year 2022 from his capital
for domestic purpose. Calculate interest on
Capital @ 9% per annum, if the withdrawals are
made at the end of each month.

7. A, B and C are partners in a firm sharing profit
and losses in the ratio of 4:3:2. C retires from the
firm, A and B decided to share profits in the ratio
of 2:1. Calculate Gaining Ratio.

1 apXÂ 5 hsc-bpÅ tNmZy-§Ä¡v GsX-¦nepw
\mse-®-¯n\v D¯-c-sa-gp-XpI (1 amÀ¡v hoXw)

1. ]¦m-fn¯w Hcp Icm-dnsâ ^e-am-Wv. CXv GXv

Xc-¯n-epÅ Icm-dm-Wv.

(a) hm¡m-ep-ÅXv   (b) Fgp-Xn-bXv  (c) hm¡m-ep-

ÅtXm Fgp-Xn-btXm  (d) hm¡m-ep-Å-Xpw, Fgp-

Xn-bXpw

2. 3:2 A\p-]m-X-¯nÂ em`w hoXn-¡p¶ c­v ]¦m-

fn-I-fmWv X Dw Y Dw.  hnlnXw \evIn AhÀ Z
F¶-bmsf ]pXnb ]¦m-fn-bm-¡n.

F¦nÂ X sâbpw Y bpsSbpw XymK A\p-]mXw

GXm-bn-cn-¡pw.

(a) 3:2    (b)  2:1     (c) 1:1    (d) 3:1

3. ]pXnb A\p-]mXw  -þ ]gb A\p-]mXw =

……………..

(a) XymK A\p-]mXw    (b) \ne-hnse A\p-]mXw

(c) t\«-¯nsâ A\p-]mXw  (d) Ch-sbm-¶p-a-Ã.

4. ]¦m-fn-¯-Øm-]\w AS¨v ]q«p-t¼mÄ Xmsg ]d-

bp¶ GXv _m²y-X-bmWv BZyw sImSp-¯p-

XoÀt¡-­Xv

(a) ]¦m-fn-bpsS tem¬   (b) ]¦m-fn-bpsS aqe-

[\w   (c) IS-¡m-cpsS _m[yX   (d) Ch-sbm-¶p-

a-Ã.

5. Hcp ]¦m-fn-bpS acW ]¦m-fn¯ Øm]-\s¯

………………… te¡v \bn-¡p-¶p.

(a) AS-¨p-]q-«Â    (b) kwtbm-P\w   (c)
]p\xkwLm-S\w   (d) ]p\À \nÀ½mWw

6 apXÂ 7 hsc-bpÅ FÃm tNmZy-§Ä¡pw D¯cw

Fgp-XpI

6. taml³ Xsâ kzImcy Bh-iy-§Ä¡mbn _nÊn-

\-ÊnÂ\n¶pw FÃm amkm-h-km\w F¶ \ne-bnÂ

5000 cq] 9% hmÀjnI ]eni \nc-¡nÂ ]n³h-en-

¨p. ]n³h-en-¡Â ]eni IW¡m-¡pI.

7. A, B, C F¶o ]¦m-fn-I-fpsS em`\ã A\p-]mXw

4:3:2 BWv. ]¦m-fn¯ _nÊn-\-ÊnÂ \n¶pw C hnc-

an-¡p-¶p. A bpsSbpw B bptSbpw ]pXnb A\p-

]mXw 2:1 Bbn Xocp-am-\n-¡-s¸-«p. F¦nÂ t\«

A\p-]mXw IW-¡m-¡p-I.
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Answer any 2 questions from 8 to 10. Each carries 3
score.

8. Calculate interest on capital @ 10% per annum
payable to Mr. Somu, assuming books are closed
on 31st December every year.
01-01-2022 Capital balance 3600
31-05-2022 Additional capital introduced 14000
01-11-2022 withdrawals out of capital  5000

9. Albi and Jibi are partners in a firm, sharing profit
and losses in the ratio 3:2. Sibi is admitted in to
the firm for 1/6 share. He brings  40000/- as capital
and  10000/- as goodwill.  Half of the goodwill is
withdrawn by Albi and Jibi.  Pass necessary journal
entries.

10. Pass necessary entries at the time of Dissolution.:
(a) Expense of realization paid   5000/-
(b) Assets having book value of  80000/- realised
60000/-
(c) Creditors of 20000/- were paid 5% less.

Answer any two from 11 to 13.  Each carries 4 score.

11. The profits of ABC company for the last five years
were:
2018  - 35000/-  2019  - 30000/-
2020 – 27500/-   2021 – 25000
2022 – 20000/-
The capital employed in the firm is 500000/- you
are required to calculate goodwill at 3 years
purchase of super-profits. The normal rate of return
on capital employed is 5%.

12. Sonu, a plus two student argues that there is no
difference between Dissolution of Partnership and
Dissolution of firm. What is your opinion ? Give
reasons.

13. Saran, Gopi and Abu are partners in a firm sharing
profit in the ratio 3:2:1.  Gopi retires from the firm.
At that time firm’s Balance Sheet includes, General
reserve of  30000/- and debit balance of profit and
loss A/c of  15000/-

8 apXÂ 10 hsc-bpÅ tNmZy-§-fnÂ GsX-¦nepw

cs­-®-¯n\v D¯-c-sa-gp-Xp-I. Hmtcm-¶n\pw 3

amÀ¡v hoXw.

8. FÃm hÀjhpw Unkw-_À 31 \v IW-¡p-IÄ

XoÀ¸m-¡p¶p F¶-\p-am-\n¨v cmPp-hn\v \evtI-

­p¶ aqe-[\ ]eni 10% hmÀjnI \nc-¡nÂ IW-

¡m-¡p-I.

01-þ01-þ2022 aqe-[\ \o¡n-bn-cp¸v 36000

31-þ05-þ2022 A[nI aqe-[\w sIm­p-h-¶Xv 14000

01-þ11-þ2022 aqe-[\w ]n³h-en-¨Xv 5000

9. em`\ãw 3:2 A\p-]m-X-̄ nÂ ]¦p-sh-¡p¶ ]¦m-

fn¯ Øm]-\-¯nse ]¦m-fn-I-fmWv BÂ_nbpw

Pn_nbpw. em`-¯nsâ 1/6 Awiw \ÂIn kn_n

F¶ hyànsb ]pXnb ]¦m-fn-bmbn {]th-in-¸n-

¡p-¶p.  kn_n 40000 cq] aqe-[-\hpw 10000 cq]

KpUv hnÃpw sIm­p-h-cp-¶p. KpUv hnÃnsâ ]IpXn

BÂ_nbpw Pn_nbpw ]n³h-en-¡p-¶p.

Bh-iy-amb tPÀWÂ F³{Sn-IÄ Fgp-Xp-I.

10. Øm]-\-¯nsâ AS-¨p-]q-«Â ka-b v̄ Xmsg-¸-d-

bp¶ CS-]m-Sp-IÄ¡pÅ tPÀWÂ F³{Sn-IÄ

Fgp-Xp-I.

(a) dnb-sse-tk-j³ sNe-hp-IÄ 5000 cq] sImSp-¯p.

(b) 80000 cq] _p¡v hne-bp-­m-bn-cp¶ BkvXn-IÄ

60000 cq]bv¡v dnb-ssekv sNbvXp.

(c) 20000 cq]-bpsS ISw 5% Ipd-hnÂ sImSp-¯p-

XoÀ¯p.

11 apXÂ 13 hsc-bpÅ tNmZy-§-fnÂ GsX-¦nepw

cs­-®-¯n\v D¯-c-sa-gp-Xp-I. Hmtcm-¶n\pw 4

amÀ¡v hoXw

11. Xmsg-X-¶n-cn-¡p-¶Xv ABC I¼-\n-bpsS Ignª

5 hÀjs¯ em`-¡-W-¡mWv

2018 35000/-þ 2019 þ 230000/-þ 2020 þ 27500/-þ

2021 þ 25000/-þ 2021 þ 20000/-þ

Øm]-\-¯nsâ apXÂ apS¡v 5 e£w cq]-bpw,

t\mÀaÂ tdäv Hm^v dnt«¬ 5% hpam-Wv. X¶n-cn-

¡p¶ IW-¡nÂ\n¶v kq¸À s{]m^näv k{¼-Zm-

b-̄ nÂ KpUv hnÂ IW-¡m-¡p-I. kq¸À t{]m^n-

änsâ 3 KpWn-X-amWv KpUv hnÂ.

12. tkm\p F¶ ¹kv Sp hnZymÀ°n ]¦m-fn¯w Ah-

km-\n-¸n-¡p-¶-Xpw, ]¦m-fn¯ Øm]\w AS-¨p-]q-

«p¶Xpw X½nÂ Hcp hyXym-k-hp-anÃ F¶v hmZn-

¡p-¶p. Cu hmZ-K-Xn-tbm-SpÅ \n§-fpsS A`n{]m-

b-sa´v? Imc-W-§Ä Fgp-Xp-I.

13. 3:2:1 F¶ A\p-]m-X-¯nÂ em`\-ã-§Â hoXn-

¡p¶ ]¦m-fn-I-fmWv kc¬, tKm]n, A_p F¶n-

hÀ. CXnÂ tKm]n hnc-an-¡p-¶p. Cu ka-b¯v

_me³kv joänÂ 30000 cq]-bpsS Icp-XÂ [\-

hpw, 15000- cq-]-bpsS em`-\-ã-¡-W-¡nse sU_näv

_me³kpw DÄs¸-«n-«p-­v.
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(a) What represents the debit balance of profit and
loss A/c.
(b) Pass journal entries to share both these amounts
among the partners.

Answer all questions from 14 to 15. Each carries 5
score.

14. Following is the Balance sheet of and sharing profit
and losses equally.

Balance sheet as on 31-01-2022
Liabilities Amount Assets Amount

Creditors 12000 Cash 26600
Reserve 36000 Sundry Dr 26000
Capital Stock 18000
     X 29200 Fixed Assets 65000
    Y 29200
     Z 29200
Total 135600 135600

X died on 31-03-2022

According to deed his legal representative are
entitle to:
i) Balance in the Capital A/c.
ii) Interest on Capital @6% per annum
iii) Share of reserve
iv) Share in the profit up to the date of death
based on last years profit.
v) Share of goodwill under average profit method
The goodwill of the firm under average profit
method is  42000/- and profit for the last year is
21600/- calculate the amount payable to X’s legal
representatives.

15. Following is the Balance Sheet of Cini and Divya
sharing profit and losses in the ratio 3:2
Balance Sheet as on 31-12-2021

Liabilities Amount Assets Amount
Creditors 22000 Bank 2000
Reserve 5000 Debtors 10000
Capital Stock 15000
    Cini 18000 Machinery 30000
    Divy 12000
Total 57000 57000

The firm dissolved on the date of Balance Sheet
as a result

` (a) Assets realized were:
Debtors  9500/-
Stock 13500/-
Machinery 51500

(a) em`-\-ã-¡-W-¡nse sU_näv _me-³kv F´ns\

kqNn-¸n-¡p-¶p.

(b) Ch-c­pw ]¦m-fn -IÄ¡v hoXn-¡p-¶-Xn-\pÅ

tPÀWÂ F³{Sn Fgp-Xp-I.

14 apXÂ 15 hsc-bpÅ tNmZy-§-fnÂ FÃm-¯n\pw

D¯-c-sa-gp-XpI

14. em`hpw \ãhpw Xpey-ambn ]¦p-sh-¡p¶ ]¦m-

fn-I-fmWv X, Y, Z. Ah-cpsS 31-þ01-þ2021 se

_me³kv joäv NphsS tNÀ¡p-¶p.

sse_n-enän XpI AÊäv XpI

s{IUn-tägvkv 12000 Imjv 26600

dnkÀÆv ^­v 36000 k¬{Sn-sU-_vtägvkv 26000

aqe-[\w tÌm¡v 18000

        X 29200 Ønc BØn 65000

        Y 29200

        Z 29200

BsI 135600 135600

X 31-þ03-þ2022 Â ac-W-s¸-«p. IcmÀ {]Imcw X sâ

{]Xn-\n-[n-IÄ¡v AÀl-X-s¸-«Xv:

i) aqe-[-\- \o¡n-bn-cp¸v

ii) aq\-[-\-¯n\v hmÀjn-I-ambn 6% ]eni

iii) dnkÀhv ^­nsâ hnlnXw

iv) Ignª hÀj-¯nse em`-¯nsâ ASn-Øm-\-

¯nÂ acW Xob-Xn -h-sc-bpÅ em`-¯nsâ

hnlnXw

v) icm-icn em`\ã coXn-bnÂ IW-¡m-¡p¶ KpUv

hnÃnsâ hnlnXw icm-icn em`-\-ã-co-Xn-bnÂ IW-

¡m-¡nb Øm]-\-̄ nsâ KpUv hnÂ 42000 cq]bpw,

Ignª hÀjs¯ em`w 21600 cq]-bp-am-Wv. \nb-

a-]-c-ambn Xsâ {]Xn-\n-[n-IÄ¡v \ÂtI­ XpI

IW-¡m-¡p-I.

15. kn\n, Znhy F¶n-hÀ 3:2 F¶ A\p-]m-X-¯nÂ

em`w hoXn-¡p-¶p. NphsS sImSp-¯n-cn-¡p-¶Xv

Ah-cpsS _me³kv joäm-Wv.

sse_n-en-änkv XpI AÊävkv XpI

s{IUn-tägvkv 22000 _m¦v _me³kv 2000

dnkÀÆv ^­v 5000 sU_n-tägvkv 10000

aqe-[\w tÌm¡v 15000

kn\n 18000 anjn-\dn 30000

Znhy 12000

BsI 57000 57000
Cu Øm]\w _me³kv joäv tUänÂ AS-¨p-]q-

«-s¸-Sp-¶p. AXnsâ ^e-ambn

(a) AÊävkv dnb-ssekv sN¿p-¶Xv:

sU_vtägvkv 9500-/-þ

tÌm¡v13500/þ

anjn-\dn 51500/þ
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(b) Creditors were paid at a discount of 10%
(c) Realization expence paid 1700/-

Prepare realization A/c, at the time of dissolution.

Answer any one of the questions from 16 to 17 (Score
8 marks)

16. Sachin and Ganguly are partners in a firm sharing
profit and losses in the ratio 1:1.  Their Balance
Sheet as on 31-12-2022 as follows:

Balance sheet as on 31-12-2022
Liabilities Amount Assets Amount

Creditors 12000 Cash 10000
Bills payable 6000 Debtors 24000
Capital Furniture 32000
    Sachin 38000 Land & Building 28000
   Ganguly 40000 Profit and Loss A/c 2000
Total 96000 96000

They decided to admit Dravid as a new partner on
that date for 1/3 share in future profit, and the
following were agreed;

1. Dravid contributed  20000/- as capital and
10000/- as his share of goodwill.
2. Furniture decreased by 4000/-
3. Land and building found appreciated by 10%
4. A provision of 5% on debtors were created for
baddebts.
Prepare revaluation account, Capital Account, and
a new Balance Sheet after the admission of Dravid.

17. The Balance of Jeevan, Jovin, and Jibin, who share
profit in proportion to their capital stood as follows
on 01-04-2021.

Liabilities Amount Assets Amount

Creditors 24000 Cash at Bank 13000
Employees PF 16000 Debtors   18000

-Provision 2000 16000
Capital Stock 46000
    Jeevan 50000 Motor Van 60000
    Jovin 30000 Profit and loss A/c. 5000
    Jibin 20000

Total 140000 140000

Jovin retired on the above date on the following
terms:

(b) s{IUn-tägvkv 10% UnkvIu-­nÂ sImSp-¡p¶p

(c) dnb-sse-tk-j³ sNe-hp-IÄ¡mbn 1700 cq]

sImSp-¡p¶p

Ah-cpsS dnb-sse-tk-j³ A¡u­v F¶nh AS-

¨p-]q-«-ensâ `mK-ambn X¿m-dm-¡p-I.

16 apXÂ 17 hsc-bpÅ tNmZy-§-fnÂ GsX-¦nepw

H¶n\v am{Xw D¯-c-sa-gp-Xp-I ( 8 amÀ¡v)

16. em`hn-lnXw Xpey-ambn (1:1) hoXn-¡p¶ ]¦m-fn¯

Øm]-\-¯nse ]¦m-fn-I-fmWv k¨n\pw KmwKp-en-

bpw. 31-þ12-þ2022 se Ah-cpsS _me³kv joäv

NphsS tNÀ¡p-¶p.

_me³kv joäv 31-þ12-þ2022

sse_n-en-änkv XpI AÊävkv XpI

s{IUn-tägvkv 12000 Iymjv 10000

_nÂUv t]b-_nÄ 6000 sU_n-tägvkv 24000

aqe-[\w ^ÀWn-¨À 32000

   k¨n³ 38000 emâ v &

   KmwKpen 40000 _nÂUnwKvkv 28000

em`\ã A¡u­v2000

BsI 96000 96000

1/3 em`-hn-lnXw \evIn {Zmhn-Uns\ ]pXnb ]¦m-

fn-bm¡n ]¦m-fn¯ _nkn-\-ÊnÂ {]th-in-¸n-¨p.

1. {ZmhnUv 20000 cq] aqe-[-\-ambpw 10000 cq]

KpUv hnÃmbpw sIm­p-h-¶p.

2. ^ÀWn- -̈dnsâ hne-bnÂ 4000 cq] Ipdhv h¶p.

3. emâ v B³Uv _nÂUn-§nsâ hne-bnÂ 10%

hÀ²-\-bp-­m-bn.

4. sU_vtä-gvknsâ 5% XpI In«m-¡-S-¯nsâ

s{]mhn-j-\mbn \o¡n-h-bv¡-s¸«p.

dnhm-eyp-th-j³ A¡u-­v, aqe-[\ A¡u-­v,

]pXnb _me³kv joäv F¶nh X¿m-dm-¡pI

17. em`-\ãw aqe-[-\-¯nsâ A\p-]-X-¯nÂ hoXn-

¡p¶ ]¦mfn-I-fmb Poh³, tPmhn³, Pn_n³

F¶n-h-cpsS _me³kv joäv NphsS tNÀ¡p¶p

_me³kv joäv 01-þ04-þ2021

sse_n-en-änkv XpI AÊävkv XpI

s{IUn-tägvkv 24000 _m¦v _me³kv 13000

Fwt¹m-bokv ]n.-F^v16000sU_v-tägvkv 18000

aqe-[\w s{]mhn-j³  2000 16000

    Poh³ 50000 tÌm¡v 46000

    tPmhn³ 30000 tamt«mÀ hm³ 60000

    Pn_n³ 20000 e`-\ã A¡u­v 5000

BsI 140000 140000
Xmsg \evIn-bn-cn-¡p¶ hyhØ A\p-k-cn¨v

tPmhn³ hnc-an-¨p.
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(a) tamt«mÀ hm\n\v 10% Un{]n-kn-tb-j³ \evIWw

(b) s{]mhnj³ t^mÀ Su«v^pÄ sU_väv 1500 cq]-

bmbn Ipdªp

(c) tPmhnsâ KpUv hnÂ hnlnXw 21000 cq]-bm-Wv.

Cu XpI Poh-sâ-bpw, Pn_n-tâbpw A¡u-­n-

te¡v Ah-cpsS ]pXnb A\p-]m-X-¯nÂ

AUvPÌv sNt¿-­-Xm-Wv.

(d) Øm]-\-¯nsâ 2000 cq] tcJ-s¸-Sp-¯m¯

\nt£-]-am-Wv. AXv tcJs]-Sp-¯-Ww.

dohm-ep-th-j³ A¡u-­v, aqe-[\ A¡u-­v,

]pXnb _me³kv joäv F¶nh X¿m-dm-¡p-I.

I¼yq-«-ssdkvUv A¡u-­nwKv

Xmsg X¶n-«p-Å-h-bnÂ GsX-¦nepw aqs¶-®-

¯n\v D¯-c-sa-gp-XpI (1 x 3 = 3)

1. kvs{]Uv joänÂ ap³Iq«n \nÀÆ-Nn-¡-s -̧«n-«pÅ

t^mÀap-e-Isf ……….. F¶v ]d-bp-¶p.

(a) ^Mvj³kv (b) skÂ sd^-d³kv

(c) hmeyqkv (d) Hm¸-td-äÀ

2. t]tdmÄ tÌävsaânsâ LS-I-a-Ãm-¯Xv Xmsg

]d-bp-¶-XÂ GXmWv?

(a) HRA     (b) DB   (c) DA     (d)  PF

3. hnh-c-§sf he-b-§-fm¡n ImWn-¡p¶ NmÀ«v

………. BWv.

(a) ss] NmÀ«v       (b) dUmÀ NmÀ«v

(c) tImfw NmÀ«v         (d) tUm\«v NmÀ«v

4. A¡u-­nwKv tkm^väv shb-dnÂ Iymjv

A¡u­v ……. {Kq¸n-emWv DÄs¸-Sp-¶-Xv.

(a) C³sh-Ìvsaâ v       (b) Idâ v Akäv

(c) ^nIvkUv Akäv     (d) Iym]n-äÂ

A©m-as¯ tNmZy-¯n\v D¯cw Fgp-Xp-I. 2
amÀ¡v

5. Xmsg-¸-d-bp-¶-h-bpsS knâmIvkv Fgp-Xp-I.

(a)  Sum     (b)  Count    (c) Average
(d)   Count Blank

6 apXÂ 7 hsc-bpÅ FÃm tNmZy-§Ä¡pw D¯-

c-sa-gp-XpI ( 1 x 3 = 3)

6. NmÀ«nsâ GsX-¦nepw aq¶p LS-I-§Ä hni-

Zo-I-cn-¡p-I.

7. Xmsg ]d-bp-¶-h-bpsS ̂ Mvj-WÂ Io Fgp-Xp-

I.

(a) t]bvsaâ v hu¨À    (b)  skbnÂkv hu¨À

(c) tIm¬{Sm hu¨À

(a) Motor van depreciated by 10%
(b) Provision for doubtful debs be brought down
to 1500/-
(c) The firm had unrecorded investments of 2000/
- and be brought into record.
(d) Jovin’s share of goodwill be fixed at 21000/-
and the same should be adjusted to the capital
accounts of Jeevan and Jovin, who share future
profit in the ratio 5:2
Prepare Revaluation account capital account, and
new Balance Sheet.

Computerised Accounting

Answer any three from the following   [ 1 x 3 =3]

1. Pre-defined formula in spread sheet are called
……………
(a) Function (b)  Cell reference
(c)  Values     (d) operator

2. Which one of the following is not a component of
payroll statement
(a) HRA (b) DB (c) DA   (d) PF

3. A chart which displays data in rings is a
…………….
(a) Pie chart    (b)  Radar Chart   (c)  Column Chart
(d) Doughnut chart

4. In an accounting software the ‘cash account’ comes
under …… group
(a) Investment   (b)  Current Asset   (c)  Fixed
Asset   (d) Capital

Answer the question 5, which carries 2 scores (1 x 2
= 2)

5. Write the syntax of the following
(a)  Sum     (b)  Count    (c) Average
(d)  Count Blank

Answer all questions from 6 to 7 . each carries 3
scores (1x3 = 30)

6. Write any three elements of chart? Explain them

7. Write the functional key of the following
(a) Payment voucher  (b)  Sales Voucher
(c)  Contra Voucher
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Answer any one question from 8 to 9.  each carries 4
score (1 x 4 = 4)

8. Write the parametres of SLN
9. Write and explain any four subsystems of AIS

Answer any one question from 10 to 11, each carries
5 score (1 x 5 = 5)

10. Writ any three merits and two demerits of CAS.
11. Write the features of GNUKHATA

8 apXÂ 9 hsc-bpÅ tNmZy-§-fnÂ GsX-¦nepw

H¶n\v D¯-c-sa-gp-XpI (1 x 4 = 4)

8. SLN sâ ]cm-ao-ä-dp-IÄ hni-Zo-I-cn-¡pI

9. AIS sâ GsX-¦nepw \mev k_v knÌw hni-Zo-I-

cn-¡p-I.

10 apXÂ 11 hsc-bpÅ tNmZy-§-fnÂ GsX-¦nepw

H¶n\v D¯-c-sa-gp-XpI (1 x5 = 5)

10. CAS sâ GsX-¦nepw aq¶v t\«-§fpw c­v tIm«-

§fpw Fgp-XpI

11. GNUKHATA bpsS {]tXy-I-c-IÄ Fgp-XpI
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